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Question Number : 1 Question Id : 5471144901 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are Prions?
IDOFPR) 90T Dade3?

Options :



Prions are disease-causing proteins in animals

DA B0SIOS FIOD EONOT (853D

1.
Prions are plant pathogens having no cell wall
; DO NGRS I8 O SO
LB
Prions are viruses attacking bacteria
DOrS) er8oasr B Td TR Ioew
3.&
Prions are slime moulds
(DOTS) VI
4. %

Question Number : 2 Question Id : 5471144902 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which type of ribosomes are seen in the cells of fungi?
O0ITe STod o 35S BEEDen EdDArow?
Options :
60S Ribosomes
60S BB Bwen

1. %
67S Ribosomes
67S DESE 0D
2. %
70S Ribosomes
., 10S [SPARINWON
LR
77S Ribosomes
77S BSE 00
4. &

Question Number : 3 Question Id : 5471144903 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The acromion process is related to
JEDHS SOSSWHD HonobolHs
Options :

Pelvic girdle

Hod 58
1. %
Ribs
éﬁ@rﬁmﬁm
2. %
Vertebra
BN
3. %
Pectoral girdle
&555333@
4. &

Question Number : 4 Question Id : 5471144904 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Operon concept was developed by
2N FEEH 0B TR I?
Options :
Jacob and Mond
=¥ B Jrol

1.+
Watson and Crick
Te)m bk (B8

2. %
Schleiden and Schwann
2SR BBk %L“;S

3. %

Morgan and Beadle
S H8ako Has



Question Number : 5 Question Id : 5471144905 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following chemical characteristics 1s not common to all living being?
Bod 8cHE efmres® D8 o) D9oh dowoh of® Ferdeo =%
Options :
Similar triplet codes for amino acids

28 858 |8 S Ben oD eSre FES

1. %
Energy is stored by high energy phosphate bond
ob¥ 48 &'50;\5 wogo woe & Do Dohnthdod.

2. %

Types of proteins present in the body
¥8508° @0t *EE Soren

3.

Ribosomes are the sites of protein synthesis
Bt smen (RPES HoFshn Gk P
4. %

Question Number : 6 Question Id : 5471144906 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Main difference between animal cell and plant cell lies in
20 X0 08w Emﬁ‘:_:_ X0 08 (Do o 28?
Options :

Nutrition

Growth
DS

2. &%

Movement

Sedo



Respiration

FJ8ch
O
4. %

Question Number : 7 Question Id : 5471144907 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The network of endoplasmic reticulum is present in the
&)055‘%;?;:\%5 BéErewo k) 5&5&65& & sob.
Options :
Nucleus

ZoB¥o

Nucleolus

Zo|8% DooEsm

Chromosomes

(SR

Cytoplasm

Eea|8c0
4.9 =

Question Number : 8 Question Id : 5471144908 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Completely haemolysed RBC is called the
e TrarBS DoHa8d RBC ©oerd.

Options :

Resealed ghost

g 5

White ghost

3¢5 559
2. ©



Red cell ghost

3& 6 G

3. %
Concealed ghost
g

4. %

Question Number : 9 Question Id : 5471144909 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name of the ship in which Charles Darwin toured for five years is
TR OR i Joddore e (HSrBodS L8 D
Options :

Vikrant T.G

Qizros T.G
1. %
Phillips G.R
20 G.R
2. %
Alexander M.V
@Ergoiﬁg M.V
3. %
Beagle HM.S
5xs HM.S
4. &

Question Number : 10 Question Id : 5471144910 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A Down’s syndrome will be
Bod =S TN) 2olE°H 26?

Options :

45+XX
1.+



A4+XY

44+-XXY

22+XY

Question Number : 11 Question Id : 5471144911 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The pyruvic acid undergoes oxidative decarboxylation in mitochondria and gets converted
into
25088 oo DEolddir &° e)Edn GoondTaSh S ons dhad _ m Srdhob.
Options :
Acetic acid

2EE wpsm

1.«
Citric acid
DEE epiim
2. %
Succinic acid
‘éﬂg&)ﬁ 9050
3. %

Ethyl alcohol
586 we)Ftd

4.

Question Number : 12 Question Id : 5471144912 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What type of sex determination occurs in butterflies and domestic chicken?
2eE% Denden 08 BEch E¢E® O 85D Dozt wdirb&od?
Options :

0 -727
I



ZW -7Z

LB

XX -XO
3. %

XX -XY
4. %

Question Number : 13 Question Id : 5471144913 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Germplasm theory was proposed by

yretey 2 % @ 2
38Ry RdEros=R) (HDSFB0DE K7

Options :
Weismann
DHDHE

1. ¢
Darwin
=85

(%]

2. %

Lamarck
@é:ﬂgé
3. %

Hugo de vries
?’.?aéﬁac%@fo
4. %

Question Number : 14 Question Id : 5471144914 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is TRUE about pBR325 vector?
pBR325 %6 080D Do 2&?
Options :
It contains 482 bp inverted duplication

38 482bp 6% ErRERSK $OA Bod



It is a 4.3-kb double stranded cloning vector

=8 4.3-kb Sxo& (Froas £Roh 3L5

2. %
It 1s a plasmud of 2.7-kb and possesses the ColE 1 ori of replication
a8 2.7-kb sER8 Bckhn (@88rHe Gny) ColE 1 ori & £0A aotoob.
3. %
It is a cloning plasmid having double stranded DNA with 5996 Base Pairs
=8 5996 TF xdes® tood (Frosh DNA £0A of) E00h &b
4.

Question Number : 15 Question Id : 5471144915 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find the CORRECT statement from the following two statements.

1. Sanger method, also referred to as dideoxynucleotide sequencing

2. Chain termination sequencing is based on the use of ddNTP in addition to the normal
nucleotides found in DNA

Bo® Bos (HEedes® $8GEe H8?

1. Froii8 HBBY, E&TRE)KrEBE $2:0)of ©f Lree Derth.

(=] o oJ -
2. BonS BHRES HER)ohR DNA &° £0%08 rp-den Sridrise & artx ddNTP oo 2
el I8 dotnod.

Options :

Only 1 1s correct

1 Soo(E3b $B%8

Only 2 is correct

2 SrEd $BE6

Both 1 and 2 are cormrect

1 08¢k 2 ¥BED
3.



Both 1 and 2 are Wrong

1 $08ckn 2 Sy

Question Number : 16 Question Id : 5471144916 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the technique used for producing monozygotic twins or triplets?
TFEAEE Lo Tor (BT 888 ToHEIE BSDrA0D FoTEEE DWE?
Options :
Embryo cloning

dold)Gr E°Roh

Biomedical cloning

DT EES SE0oR

Therapeutic cloning

Soeipe @8 £00R

Adult DNA cloning
oig DNA &00R

Question Number : 17 Question Id : 5471144917 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The restriction enzyme. which cleaves DNA at defined positions close or near to the
recognition site, 1s

180D (HRTRE BT Tor $hoHos” A NoBRES Fores” DNA & dEED D808 0B,

Options :
Type IV enzymes
B85 IV Qozsoen

1. &



Type III enzymes
85 11 JoEsoen

2. %
Type II enzymes
B85 II QoZdoes
3.
Type I enzymes
85 I JoBoen
4. %

Question Number : 18 Question Id : 5471144918 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The transference of genes from one chromosome to anther during synapsis is termed as
2% (B’ %08 5% R ekyde 28D $Hchos® iyt diotrds?
Options :
Linkage
oo

Crossing over

oedio
2.

Independent assortment

ol orend

Dominance

@&éé;o
4. %

Question Number : 19 Question Id : 5471144919 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



A segment of DNA has 60 adenine and 60 cytosine bases. The total no. of Nucleotides
present in the segment is

DNA Dzrifos® 60 @838 $8dim 60 P28 THoren dotron. wons o pobdos®

606G SrEErBE Sowy
Options :

60

- 120

fad
=)

240

Question Number : 20 Question Id : 5471144920 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following properties is not taken into account while looking for a suitable
vector?
B8 TR IHDHHDPH G [Bod TAS° BIR D8RS E SO LrE%.
Options :
Size

35830
1. %

Parent organism

a‘me‘%é&
2. %
Restriction site
$HBE Bod (Froo
3. %

Origin of replication

(B8Er0e Do), Soreo



Question Number : 21 Question Id : 5471144921 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Larger DNA fragments require a transfer time.
'aacé DNA #¥eren 068 Todc08 ﬁé%g VeI
Options :
Longer

END
(&

Shorter

éi‘a‘;aﬁ

Medium

0t8g3s

Very high

e QEQ%K) [Vcdo

Question Number : 22 Question Id : 5471144922 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the clinical application of monoclonal antibodies?

FTTFERS SGrofardS Gy 058 ©ITAS Dd?

Options :
Biosensors
:a:ﬁ:v?:é“\]ifg

1. %

Transplant rejection

é:ﬂ&a}& E%Sé;éca

Infectious disease

©0L0 E‘é@



Purification of drugs

Thore $H6%5m
4.4 ©

Question Number : 23 Question Id : 5471144923 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the first and the most important step in the polymerase chain
reaction?
Bod >&S° FDHTD BS BrESes® Insd HBckn oo Swardd &€ 26?
Options :
Annealing

AQcHdoh

Primer extension

(P08 &r&Rosd

2. %
Denaturation
Ao BRs
3.
Extension
&R0
4. %

Question Number : 24 Question Id : 5471144924 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which of the method electric field is applied for gene transfer?
& (Bod O H58E° wr 28D8 DErE Si¥o HSBotnhEod?
= & o = —o
Options :
Electrophorosis
JDE D
1. ¢
Microinjection

D(E* @0BES



Particle bombardment

¥pcroored
3.8
Sonoporation
WFEDTAS
4. %

Question Number : 25 Question Id : 5471144925 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Endoplasmic reticulum is the centre of
Do&arRE Béyeo Zolo
Options :
Excretion
DI

Carbohydrate
=B @S

Protein synthesis

@*ES BoFses
3.

Blood formation

8¥o E‘Jiﬁgciéoo

Question Number : 26 Question Id : 5471144926 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is TRUE about the taxonomic order Petromyzontia?
EFDSod s oI a‘}éﬁ'ém (Boo 8o (Bod T8&° D& D:o?
Options :
Dorsal fin 1s absent or feeble in nature

550‘:395335 @653@55 T, Tor noiESorr dotnod.

1. ®



Branchial basket 1s absent

(oQcHS @l Beso

2. %
These live as scavengers on dead fishes
3 S0P Bdop By EdFon
3. %
Development is indirect
@@@& a’JSSéorP S0tnod
4. -

Question Number : 27 Question Id : 5471144927 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following:

Types of teeth Types of Animals
1. Lophodont a. Monkeys
2. Triconodont b. Grazing Mammals
3. Bunodont c. Fossil Mammals
4. Selenodont d.  Fossil Mesozoic mammals

e. Elephant
(Bod &0 J8e0d :

Somre Soeen xoHen

1. §°FFe0ed a. Sen

2. B S meoes b. & Ecren

3. wSforods c. Bormddoren

4. 285 w05 d. BoreRFS onk Smren
e. DBold

Options :

1-b; 2-c;3-d; 4-a



1= 2-8:3-b; 4-¢

2. %
1-c; 2-b; 3-d: 4-a
3. %
1-e: 2-d; 3-a: 4-b
4. &

Question Number : 28 Question Id : 5471144928 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement is FALSE?
Bod 'ééfﬁ:oﬁ@éﬁ 28 E5p?
Options :
Protopterus is commonly called Nile Lungfish

@“55{”%_]355263 Frrdeorr Jen ool PR wotrd

1. %
Brunet Salmon 1s found in South America
@R Fo)S e 0B EoTdndod
2.¢
Lepidosiren is capable of aestivation
BHE® PBS B (e Darsy (aestivation) o Lot
3. %
Neoceratodus is commonly called Australian lungfish
DB oEED K Foedmore @5@80505 ool HR ©d HeoB
4. %

Question Number : 29 Question Id : 5471144929 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following enzyme reduces carbohydrates or starches into maltose?
Bod =R =8 3Gy Tor Hod Srored IrETHT $Rod JoED 26?
— [az] [*] [} %] e
Options :
Amylopsin
oSS

\‘f



Lactase

g
2.%  ®
Lipase
DRSS
3. %
Steopsin
= C T, —y
TP
=%
4. %

Question Number : 30 Question Id : 5471144930 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following type of reptilian skull is found in the Terapsids?
8od sr&E° O EEDS $OYEre HBe PENEe &° Ldhon?

Options :
Eurapsid
evivle -yt

1. %

Diapsid
(ndovtoteploy

2. %

Parapsid
Lo ol

3. %

Synapsid
DTG
4. & )

Question Number : 31 Question Id : 5471144931 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the CORRECT answer
1. The pigeon trunk is compact and spindle-shaped
2. In pigeons. preen gland secretion lubricates the feathers
3. Mid-dorsally. the pigeon trunk has a bony ridge called a carina

4. Pigeon has a third eye lid called nictitating membrane

588 oo JoHEPs.

1. o (@oF stosrf bk Hebdh voebos® Botnod.

2. FHTed®, BHS Hodrso Sl LoBdr [kod.

3. o o, 8o (0oES® =bxr © Dendnd @?g Bpdo dotnod.

4. SHo°OE R‘Jéﬁnéoﬁ o[BS o3 HorEEod Hrd dotwod.
Options :
1. 2. 3 & 4 are correct

1, 2, 3, 5Bk 4 $BHD

1 =
Only 1 & 4 are correct
1 508050 4 SmED $BED
2. %
Only 1, 2 & 4 are correct
1, 2 8w 4 SrED $BED
3.¢
Only 2 & 3 are correct
2 S8k 3 SeEdh $BED
4. %

Question Number : 32 Question Id : 5471144932 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is TRUE about Carpora quadrigemina?

8o~ o8B K80 Reo D&E?

Options :



Optic lobes are four in number

@a%gﬁif@a TeenitH éoa:&és B otrom.

I
Two pairs of limbs present with five digits
0% ©oBes &%) Sod ade elddhare
2. %
Ribs have four heads
DEBwEen Tenlh S EOA sotron
3. %
Four chambered heart is present with only the left aortic arch
el HEoe HoB A RQTEDR Ho & Sl @oewod.
4. %

Question Number : 33 Question Id : 5471144933 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The animals of which group are Homothermic:
D 350706 a0dhHen a’#ﬁmﬁﬁéﬁ
Options :
Whale, Pegion. Bat
26, DRCHS, “&heo

1. ¢
Crocodile, Aligator, Turtle
0D, ONRWE, (rdS
2. %
Sea horse. Dog fish, Cat fish
0B B0, Tehda , == DR
3. %
Toad. Frog. Salamander
&8, (<R, Fooss
4. %

Question Number : 34 Question Id : 5471144934 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Neotenic urochordates belongs to the class

QA@PBOE S0l D S8K8E TobHR?

[ %)

Options :

Ascidiacea

©RETDT
1. %

Appendicularia

BESTateoltovns
2.

Thaliacea

e Hlensraoved
3. %

Reticularia

B&fmﬂ:@&dﬁp
4. %

Question Number : 35 Question Id : 5471144935 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Urodele are characterised by the absence of

as her DEESEo woe ééﬁ&émcﬁaé}o&
Options :
Tail
1. % &%
Limbs
SE8SForren
2. %
Jaws
B35 en
3. %

Tympanum and eye lids

Py obchn Kodsrsen



Question Number : 36 Question Id : 5471144936 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cloacal respiration takes place in

o598 (Cloacal) a38ch BRE° ebhibEod?

Options :
Gavialis
MrOAIOR

1. %

Terrapin
Bloeda

2. %

Turtle
wﬁw

3. ¢

None of these
)=

4. %

Question Number : 37 Question Id : 5471144937 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The largest extinct amphibian group
©d g ©0#80dB0nS aBchSYE Sdmsro 287
Options :
Sallentia
L FBo&air
Apoda
B o

Labyrinthodontia
HBoS & oficir



Urodela

&t ter

Question Number : 38 Question Id : 5471144938 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Number of heart chambers in frog

5@@; od Kthe Sogy

Options :

Question Number : 39 Question Id : 5471144939 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Placenta is present in

Bod &S srotr BRE° dotnod.

Options :
Eutherian
fovveTalaloveul

1.«

Prototheria
Euaatelores

2. %

Metatheira
hérgoe

3. %

Kinetheria
oI alovril



Question Number : 40 Question Id : 5471144940 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The small tuft of feathers at the free end of the bird wing

D BY) Gy QN8 =o&t D) Se GTo¥) L) eredn (tuft) L DosrR?

Options :
Quills
&S
Lx =
Retrices
83T
2. %
Remiges
[EAvE=E
3. %
Alaspuria
LeBair
4.

Question Number : 41 Question Id : 5471144941 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these are considered most essential in the origin of life
Bod =RE° 28 Do GwY) drewcd® vdod SwerNer $BKBF?
Options :
Enzymes
QoFdoen
1. %
Nucleic acids
- Zo|8¥ edren
Chorbohydrates
=5 G

3. %



Proteins
(A

Question Number : 42 Question Id : 5471144942 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which theory argues that life on earth came from outer space
380 o i wosdFo Mok SYPHIEY (Bod D 23:3;0650 BenHHos?
Options :
Theory of panspermia

&3{\1}53::55? ?'Oz:goéo

1.
Catastrophisin
DHHY
2. %
Biogenesis
a@eERR
3.&
Chemosynthetic Theory
23720 S5BE %m{;oéo
4. %

Question Number : 43 Question Id : 5471144943 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Reappearance of certain ancestral characters is called

5°Q) ?’.gj“é;fo@ ofren a’m@g EQoSmrR) 2500 wotrdy?

Options :
Palaeogenesis
FOTrBRD

1. %

Atavism
eétrd=o

2.¢



Paedogenisis

DERORH
3. %
polyembryony
0ol DGR
4. %

Question Number : 44 Question Id : 5471144944 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Homologous organs indicate the
D58 (Homologous) escharen IEQ Goedrom.
Options :
Convergent evolution

ﬁéggo-:-ﬁ BB

1. %
Parallel evolution
[Eross H8=sho

2. %

Common descent
T HoEs

3.

Natural selection
B8 IQZ
4. %

Question Number : 45 Question Id : 5471144945 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Enzymes that remove nucleotides one at a time from the end of a DNA molecule are called

DNA o) 958 $ob o $iabod® o) $rd@rBio Fofod doBHew

©otrdn.
Options :
Ligases

N D
1. &



Endonucleases

Do&P KT BCHS
2. % e
Exonucleases
QES KB DD
- SR
Modifying enzymes
A 25803 JoZHen

Question Number : 46 Question Id : 5471144946 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Klenow fragment is the modified enzyme of which of the parent DNA polymerase
ES° o o8 & DNA &rd) @) $580D8 JoFSH
Options :

DNA polymerase-I

DNA &9so5-1

1. ¢
DNA polymerase-III
, DNA &9505-111
LR
DNA polymerase-II
DNA &0don-11
3. %

DNA polymerase-IV
DNA &905ch-TV

Question Number : 47 Question Id : 5471144947 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

DNA polymerase II can polymerase up to nucleotides per minute at 37°C
DNA &9&85-1L 37°C 5§ oarls KB GrBy $5% 008 Bohie.

Options :



1. ¢

- 5000
- 500

4 5 20000

Question Number : 48 Question Id : 5471144948 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is an example of a simplest vector (in terms of size)?
DEEDH 5?;5 (55850 HBorr) & arirde 267?
Options :
2 micron circle

2 Pl 556

1. %
Plasmid
arinG

2. T F
Bacteriophage
Eedr S

3. %

YAC
YAC
4. %

Question Number : 49 Question Id : 5471144949 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name the culture which is prepared by inoculating directly from the tissue of an organism to
culture media.

2% 29 cfmﬁgr Xeoerewo Soob 2'5&_:_)5 Dot e Ecren Fcho 2 e E5r8 Bahobs

S8 2% ek

00y
r\JOcO&EJ [5]

Options :



Primary cell culture

oyl Al L
(=580 Lo B0R) B

1. ¢
Cell lines
36 B9
2. %
Secondary cell culture
%088 DS Eend
3. %
Transformed cell culture
Srarosdo Dodd Q0 )8
4. %

Question Number : 50 Question Id : 5471144950 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s the source of antibodies for snake bite?
Bod =&S° i cend (PBBEE Sreo D&?

Options :
Monkey
=5

1. %

Bull
&0
[
2. %
Cow
&
3. % 2
Horse
oo
4. =

Question Number : 51 Question Id : 5471144951 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The immunization program in India was launched in which year?
TEEBE0E" mnRFNS sEEvo @ VoS Bos® (FBodoiinsos?

Options :

1975

1976

2. &%

1977

3. %

1978
L4

Question Number : 52 Question Id : 5471144952 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The nucleus is separated from surrounding cytoplasm by a nuclear Membrane is
Zol==q), theap 806 ¥ Sergo Kool 3% T Sols¥ Y
Options :
Single and non-porous
2oAS B0 TR-8F8H

1. %
Double and non-porous
Sond HBASD Tee -8R
2. %
Single and porous
2oRS B 8D
3. %
Double and porous
Snd  HBasn D
4.

Question Number : 53 Question Id : 5471144953 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dictyosomes is also known as
BEEPPD ©R TEQ wotr?



Options :
Golgi bodies
m% £Boeen
1.¢

Ribosomes

35 5

Lysosomes
By

Mitochondria

Do&Fso|Base
4. %

Question Number : 54 Question Id : 5471144954 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

50 secondary spermatocytes and 50 secondary oocytes form
50 &;@dﬁa BH|ELrd) Lvasmygen dao 50 EB;écSﬁn & He Srdforo oror _ dEthzeow.
Options :
200 sperms and 50 ova

200 HE¥eren 08w 50 womedcires

1. %
200 sperms and 25 ova
) 200 H|E¥ceren 08w 25 womedcTren
LB
100 sperms and 25 ova
100 H|EEegren 08w 25 womrddiren
3.&
100 sperms and 50 ova
100 HEZcgren 085w 50 womddiren
4.

Question Number : 55 Question Id : 5471144955 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following breed is developed by Animal and Fishery Sciences University in
Bangalore?

BorbErtE™ oirRHS DB R PHT D DgEabo, Eod TS O 8D ©s Trod?

Options :
Vanaraja
ST
1. %
Giriraja

) NBoee:
Kadaknath
25E>H

3. %

Asee
e
4. %

Question Number : 56 Question Id : 5471144956 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Match the following.

Broilers’s Age Vaccine
A. 5-7% day a. Marek’s disease Vaccine
B. 14% day b. Ranikhet disease LaSota Strain
C. 28% day c. Infectious Bursal Disease Vaccine
D. 21% day d. Ranikhet disease K1 Strain

e. IBD Vaccine
Bod =80 Jd8enob.

[Eroneg HSabkn) 58y
1. 5-7% 8% a. &0°0E) a5l =
2. 14 $ &% b. B3B8 =6 et (FonS
3. 285 &% ¢ '&153;5_.1@535 28)S =56 &
4. 215 B d. o888 =58 K1 (RowS

e. IBD &c

Options :

1-c; 2-e; 3-b; 4-a

1. %

1-a; 2-c: 3-d; 4-b
2. %

1-d: 2-c; 3-e: 4-b
3.

1-c; 2-b; 3-e; 4-a
4. %

Question Number : 57 Question Id : 5471144957 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which cattle breeds, the male animals are good for work and cows are poor milk yielders?

D HHJHe Hed®, H soHHen H8 Hodd HB wHen 55 o akow?

Options :



Milch Breed
o) (OF

Draught breeds
=5 (D&
2.
Dual purpose Breeds
S0y [(DBred e

Exotic breeds

ol &% smdoen

4. %

Question Number : 58 Question Id : 5471144958 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement is FALSE regarding Tharparkar breed?
=8 ‘%‘5@5 88 Sowobod) (Bod TES I8 Sp?
Options :
The breed is commonly seen in Coimbatore district of Tamilnadu

& 28 Frprdmorr SETHE™ Ecbondrdh Rerd® 202508,

1. ¢
The bullocks are quite suitable for ploughing and casting
ERRE Bk FPENHERE Ahen Tror wireorT dotrow
2. %
The cows are good milk yielding animals (1800 — 2600kgs)
oY Hod e 3 wodbden (1800-2600 &%)
3. %
First calving age ranges from 38-42 months
SIS Bl HoHXD) 38-42 Fee B aotnod.
4. %

Question Number : 59 Question Id : 5471144959 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



What are the recommended normal working hours for bullocks?
Qo E°%o Ra780) DSH2ES Fprdm HQ Koben HE?
Options :
4 hours of carting or 3 hours of ploughing

4 Kotren 208 erio Boe 3 Koten oo

1. %

8 hours of carting or 6 hours of ploughing

8 Hoten mod oriiio B 6 Kowen ¥
2. %

7 hours of carting or 5 hours of ploughing

7 fotoen 208 eriiio So= 5 Koken oo
3. %

6 hours of carting or 4 hours of ploughing

6 Hoen mod eriio Soe 4 Hoten oo
4. &

Question Number : 60 Question Id : 5471144960 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the process of removal of the sick and unproductive birds
2oHGS HOKH 6y IaHY HHeo Fohod (HBad dHE?
Options :
Culling
£0oh
1.
Cannibalism
$Bmod FE¥o

2. &%

De-beaking

&-88oh

3. %



Culture

HoS8sm
4 % -

Question Number : 61 Question Id : 5471144961 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The noise pollutions is measured in
¥ ooyl 308 S
Options :

Tones

&

Fathoms

o)

Decibels
GBS

3. ¢ )
Kilogrammes

26° [rives®

Question Number : 62 Question Id : 5471144962 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Brooder house is used to rear which age group of birds
@i R O Hohi) e DoserlE eRBrhodnthdod.
Options :
9-18 weeks age

9-18zrore écﬁo‘@(&

5-9 weeks age
5-9 Trore Sahi)



18-72 weeks age
18-72 zrore S
3. %
0-8 weeks age
0-8 mrore HSabn)
4.9
Question Number : 63 Question Id : 5471144963 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the correct match

1. Fowl typhoid 1. Pasteurella multocida

2. Fowl Cholera 1. Salmonella gallinarum

3. Coryza 1. Salmonella pullorum

4. Pullorum 1v.  Haemophilus paragallinarum

808 T&E° $BGHE s HBotos

A) 5% Barond i) S&Bex D&
B) 5% eo- ii) &Rz Q=80
C) e iii) ERer E5%
D) &% iV) Tr3rdhel Sroeddo
Options :
A-ii, B-i. C-iv. D-iii
1. ¢

A-ii. B-i. C-il, D-iv

2. %

A-tv, B-ii. C-. D-u
3. %

A-iil, B-ii. C-iv, DA
4. %

Question Number : 64 Question Id : 5471144964 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The instrument used for Castration is
T@“S (5180 %0 1Bod 8S° BR eHIBrATE?
Options :
Guilloton Dehorner

ASPeSR:rE5

Burdizo

20BS°

2. ¢ -
Cutting plier
5@05'&0‘535

Knife
3P

—

Question Number : 65 Question Id : 5471144965 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the pregnant period of a cow

(TH) ﬁtﬁa 58 w0 Jod?

Options :
220 days
220 &aen
1. %
250 days
250 Bfaen
2. %
280 days
o 280 B0en
300 days
300 &%aen



Question Number : 66 Question Id : 5471144966 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Discoblastula is formed in

&ﬁﬁ; e dodt Q8 &od?
Lo i - |

Options :
Insects
é.éa:"e.;a
1. %
Birds
ol ol
eJI 80
2. s
Amphibians
adchdoeen
3. %
Fishes
Dhen
4. %

Question Number : 67 Question Id : 5471144967 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Corona radiate in mammalian follide is in nature.
£58 >BHE°0 5650 TEGer dor Gotwod?
Options :
Cellular
Zegr0ed
1. ¢
Non-cellular

Kesddr&o

Fibrous

S



Non-fibrous

8% =08
4, %

Question Number : 68 Question Id : 5471144968 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find out the FALSE statement.
S0P (L LHoirsob.

o
Options :
Arthropod eggs are centrolecithal

o[EFFE 10 Dol TS
z =2

1. %
Egg of a hen is a good example of an Oligolecital egg
B8 1% wDRTBRHS KNk Do s
2. ¢
Frog eggs are mesolecithal
£5) 10ty TS
3. %
Isolecithal egg is seen in Amphioxus
FTVLS D) SoHIPERE® LML
4. %

Question Number : 69 Question Id : 5471144969 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The cotyledonary placenta is character of

006568 sroer S oEwO.
Options :
Horse
I % e
Wolf
&hen



Man

SR
3. %
Sheep
B
4.

Question Number : 70 Question Id : 5471144970 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s succus entericus?
BED DobdED ol HE?
Options :
Intestinal juice
2iHES0
1. ¢
Pancreatic juice
agolfairdE 8o

2. %
Saliva
R0

3. %
gastric juice

a5
oS 830
4. %

Question Number : 71 Question Id : 5471144971 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find the CORRECT statement.
$B% 2ol Ko LoTSod.
Options :
The left auricle receives oxygenated blood from the lungs

Do BBE #e2B8Ke od w8 juSs’ Lrd o) woibotnod.
1. ¢



The opening of venacave is guarded by Eustachian valve

=525 Gt 52900 d’mua;ﬂ)ci’nﬁ mé; oo Sfodnthéob.

2. %
The right precaval opening is guarded by the besian valve
%8 (oS £200R BIAHS & e SBodncdod
3. %
The left auriculo ventricular opening is guarded by foramen ovale
5 wb%S” Bo(@Xed LDROR FEHS 456 oeoe S8osnthdod
4. %

Question Number : 72 Question Id : 5471144972 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a protein secreted by the red acidophils of the Pars distalis?
Bod =&S° 5) ETOD &80 BE &S oo (¥R0D FES H8?
Options :
Melanocyte stimulating hormone

TS 0 PXoBoR FEBIS

5]
1. %
Follicle stimulating hormone
TOES ?gzﬁaaéé&oﬁ :;6555&5
2. %
Luteinizing hormone
er&F2oR 68
3. %
Lactogenic hormone
@55@&5 ﬁSSéS
4.

Question Number : 73 Question Id : 5471144973 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Who proposed the term ethonology for the study of the behaviour of animals in relation to the
environment?

ém&éﬁw&)& Powofod) wodDe (HDIEHM @Eﬁé@i@éo DhHTR8 6 TFed oI DR DS

(D8 BoE?

Options :
Hilaire
&'@5

1.
Wells
24

2. %
Clarke
=5

3. % el

Charles Elton

00 DO
Lo [*

Question Number : 74 Question Id : 5471144974 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a good example of Phase Specific Learning?
208 T8 2 )RDE BB)oh & Hod Brrirdn 26?
Options :
Reasoning
SesQof

Imprinting
s0(Do&oh

2.
Trial and Error
(£20cDS B JBE

3. %



Habituation

?:rﬂéaagfba’ﬁ
4. %

Question Number : 75 Question Id : 5471144975 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Under ideal conditions the birth rate is known as

©i5d) BBHEHE, =% Bew O Depotrtd?

Options :
Mortality
Sneasin

1 &

Natality
B0

2.

Nuditity
Syeclsé)

3. % ~
Population
e Fuitond

4. %

Question Number : 76 Question Id : 5471144976 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In parasite food chain pyramid 1s
S E9ed eFfsD Mook Go¥) 200G
Options :
Up right
Qérdorr
1.
Linear

[DEEore



Irregular

JEoorr B9

Up down

22 (2ot
—

Question Number : 77 Question Id : 5471144977 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who coined the Eco-development
JE-BHoDDotT 25 ErErodomrd.
Options :
Barabara
eolelounte!
1. %
W. Rostow

o _ e
Sagy - oRS

2. %
Rene Dubos
83 H&%D

3. %
Maurice strong
582 (Froh

%]
4.4

Question Number : 78 Question Id : 5471144978 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Desert dwelling animals are called
D8 Vel moHJHod dvoerdH?
Options :
Xeric

=6E
I



Arboreal

n’)e)éa‘?o

2. %
Fossorial
FIPBSHS
3. %
Terrestrial
Frs8o
4. %

Question Number : 79 Question Id : 5471144979 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Major pollutant behind famous Bhopal tragedy was
(SR S Dariso I B (Ered seodo D&?
Options :
Hydrogen cyanide
T E%8S $oHRE

1. %
Isocynic acid
o5 i

2. %

Methylamine
DRODS

3. %

Methyl Isocynate
WP DI
4.

Question Number : 80 Question Id : 5471144980 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Association of two which depend upon each other is called
2% 0D 250 eprddd X0 £903 TR dotrdn?

Options :



Commonsalism

SO0
1. %

Symbiosis

Derdso
2.

Parasitism

SoerfSso
3. %

Mutalism

éééﬂjéa‘tﬁo
4. %

Question Number : 81 Question Id : 5471144981 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which was absent in the atmosphere at the time of origin of life
L0 ) edozKod® D& aredsnod® T?

Options :

CHs4

NH;

Question Number : 82 Question Id : 5471144982 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Where does the royal jelly produce?
oocHS B M B Tod.
Options :

Pharangeal glands

F=002c0S (HoFoen
1. ¢



Abdomen

addo
2. %
Body
£6%0
3. %
Eyes
Ednen
4. %

Question Number : 83 Question Id : 5471144983 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Primary spermatocyte is
(580E HESrE) Seoado BRI

Options :
Haploid

Haplodiploid
el aront

4. %

Question Number : 84 Question Id : 5471144984 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are examples of horse hair worms?
08 Dotpge HEMBLD ETTIPEIeD DaE?

Options :



Sipunculus and Gordius

DDA VR BB ngo:bi:

Gordius and Nectonema
H80HD 2By AEDAT
Priapulus and Sipunculus

20DV Sdain ?oa’;;_')majoin

Nectonema and Priapulus

DEIT BAIL DOSTRHVD

Question Number : 85 Question Id : 5471144985 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the route of the water current in Spongila?
P )0NereS DE3 (D0 TINE) SrG0 DeES?
Options :
Subdermal spaces = ostia = flagellated chambers = prosodus = aphodus = oscula
—> excurrent canals = spongocoel = out

JDTES gr@en > L, > TS A rond) > |FFED > PSR >
2,002 D DB YETID0E Tord) > F)ORTO 2 e959&d

Subermal spaces = ostia = flagellated chambers = prosopyles = aphodus -2
oscula = excurrent canals —spongocoel — out

IBYBS PN > LYOT® > PTHD TS oD > |FPFNO ) oS >
2,802 > 58500 Tord ) D ar)ONTO > eH&d



Ostia = subdermal spaces = incurrent canals - prosodus —> flagellated chambers—>
aphodus = excurrent canals = spongocoel = oscula = out
2,205 > 5T rPden > 0LV T D> (GO D FTSHE

DN D @B D DB IS DO TENHEN D PIONTONO 2,087 > €9:)E
3.9

Ostia = subdermal spaces = immcurrent canals = prosoples = flagellated chambers
— ahodus = excurrent canals = spongocoel = oscula = out

4,005 S SSTES groen > YOEDOES e ) D (FFNS) > IO BE
DN D> OTTBD D I5)5T5D0E TeNHED D> PIOATO > Lper >
e969)ed

Question Number : 86 Question Id : 5471144986 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following are the first metazoans to exhibit tissue level of organization but no
organs are found?

800 T3S’ O I3 EFS TSN SEDENS @) e92TOFTTONA (D0 TN

o) 95T EN BN BeN?

Options :
Cnidarians
QOO
1. '
Molluscans
S[NOTL)
2. %
Echinoderms
RN A NY<IoPN
Platyhelminth
T3
4. %

Question Number : 87 Question Id : 5471144987 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Muller’s larva is the characteristic larva of

000 @B0E), ol RO a8y OFE 0"
Options :
Turbellarians
DD THR)
1.
Monogeneans
SIS BAADD )
2. %
Digeneans
ABI0HD)
3.&
Cestodes
TR
4. %

Question Number : 88 Question Id : 5471144988 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement is FALSE?
80O ¢3S DO H))?
Options :
Nemathelminths are bilaterally symmetrical

TNTO0TAS'D T 5o 8 EOMENNOM  E0EroN

Pharynx in nemathelminths is muscular and specialized

TNTO0TAS'D o005 B0S HOAH BB

Nemathelminths exhibit tissue-level of organization

. TNTE0T Eeesred JTan (D000

Body is unsegmented and flattened

FOB0 D2I20VHDATCD DO VT &SOO



Question Number : 89 Question Id : 5471144989 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the common name of Sabella?
$Bep Go¥) Foedn wd dE?
Options :

Lug worm

oh 75
1. = ¢
Lung worm
#8288 Hrd
2. %
Paddle worm
Escig St
3. 0%
Peacock worm
Fd HBH
4.

Question Number : 90 Question Id : 5471144990 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Match the following:

ANIMALS RESPIRATORY STRUCTURES
1. Star fish 1. Respiratory trees
2. Sea urchins ii. Genital bursa
3. Brittle stars 1i1. Dermal branchiae
4. Holothurians iv. Peristomial gills

(Eod &R H8Pe0d :

aofgen 5}58% Qo=eeeen
1.5 23 . 3808 €S
2. 238D o8y ii. B0&S 2o
3. 2o T iil. 385 (eroase
TSP EBOR iv. 28FDocHS )

Options :

1-111, 2-1v. 3-11, 4-1

1-1v, 2-11, 3-1. 4411

2. %

1-11, 2-111, 3-1v. 4-1
3. %

-1, 2-11. 3-1ii, 4-1v
4. %

Question Number : 91 Question Id : 5471144991 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the common name of Philippine goby?
20N 528 Go) FETeSe 2% HE?
Options :
Aquatic lizard

Beud D9
I %



Whale Shark
a8 a8

2. %
Pandaka

SoKk
3.

Koil

SHoand
4 %

Question Number : 92 Question Id : 5471144992 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What is the amino acid present in the phosphogen of all the invertebrates?

o) ei3dhore FAHIISE dod oS eio J6?

Options :
Arginin
@803

v =

Creatin
BGHES

2. %

Valine

TBR
3%

lysine

BN
4. %

Question Number : 93 Question Id : 5471144993 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not insect?
208 06 HB &u¥o ==&?

Options :



288
1.+
Butterfly
SeeEPE Dend
2. %
Moth
5SS
3. %
Housetly
FToR
4. %

Question Number : 94 Question Id : 5471144994 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bilateral symmetry is generally found in
BB $58rnE Fgdnorr GRS EHiTEnthdos?

Options :

Fixed animal

%}6 8005
1. %
Active & motile animal
BB & FrBS moHen
2. %
Sessile animal
:fgoé B3 mogen
3. %
Inactive & motile animal
QR & Sod sodpen
4. %

Question Number : 95 Question Id : 5471144995 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sea urchin 1s member of class

DE0(ED LY Doy SEKS 26?

Options :
Holothuroidea
TS5 ond i

1. %

Crinoidea
@@w&cﬁp

2. %

Echinoidea
MBS Bt

3.

Echinodermata
DBt
4, %

Question Number : 96 Question Id : 5471144996 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The skeleton of sponges is mostly formed by
HoLged eSoado JEHT 308° DY HS0s?
Options :
Myocytes
STFRR

Chromocytes

SESF

Porocytes
85 iy

R



Sceroblasts
285 ehen
(e Lag] %]
4. ¢

Question Number : 97 Question Id : 5471144997 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Number of eggs stored in uterus of female ascaris is
o sPmBn Gk ﬁca%cﬁaoéﬁ QerDchog g Sowr
=) (=3 ¢ [:¥] ~ 8 —
Options :

20000

, » 270000

10000

125000

Question Number : 98 Question Id : 5471144998 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Which of the following animal is marine
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Gastric filaments are found in
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The larva of belanoglossus
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